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One, to exclude land — MYPAP WWR TN

OVERVIEW
The %713 concluded that %2 includes everything and the 220w of 191 M W are
excluding — in this order — MY 2>72Y ,MypPIR. Our MdOIN questions the order.

N1v0IN comments:
- (3,vp 91 IR P93 19PY N9IMNT VIPNRY 291 SATT XY SVIWNRY 1YY 1IN MY

The %713 should have excluded nyauw first before it excluded ypap, for it is the
most plausible to be excluded, as is evident later in the last 95 -

IMIVY NIN DYNN 1IN XY 30139101 91259 W11 INNDDT
That according to the one (71¥%X 1) who expounds 2121 91291 (instead of 975
'»791) he would only exclude Ny v, but not vpp.

SUMMARY
The most appropriate item to be excluded from 2507 is MIVY; not YPIp.

THINKING IT OVER

Y79 11°27 answers NMO0IN question that since in our case we are excluding nypap
and MvY (because there are a few 0 n), therefore the X723 mentions ¥pp first
since the ¥n™12 (on 2,20) mentions Yp7p first. However, the question seemingly
still remains on the Xn>72; why did the ¥n>>72 mention ¥Pp first?!*

' mooin presumes that something which is not 1wn 11 (like N1MVW) is more different from 75v%un, than Ypp is
different from 1%v%un, since in the case of ypap it is Twan 101 just like Pov2un; however Muw merely represent
something of value, but have no intrinsic value of their own as 1210201 ¥p1p have. Therefore when we have a choice
whether to exclude ypap or mMww, the first choice is to exclude n1mvw which is more obviously different from
15ubun than vpap is.

? The xn™2 there cites a NP2 in a case where someone stole a field (he occupied it against the will of the owner),
and the river flooded the field rendering it worthless. T1¥%R "1 maintains the 1773 must return to the owner (the value
of) a new field, while the 021 maintain that the 1773 can say 7°19% 72w *7; take your (flooded) field back.

* Their nPonn is based how we expound the 2°p109 in 75 X3, X7P" which state: 937 iR .75 .31 137992 in°nya wWid) XD
"3 WRI2 DR 0P YR 1Y Yawd K. The words Wnya wnol is a 992 or a M12; the word N7p91 is either a v or a
v1Yn; the words 31 9o IR is again a 973 or a 127, If we interpret it as a 3191 the v of 11775 limits the 72w 210 (of
WRI2 MR 27w) only to a 13mn 1M 2ubvnn 127, excluding 0272y mavwy Nwpap. However if it is interpreted with a
7" (as TTY2R " does); the "12°7 includes everything and the w13 excludes only nuw; however by vpp there is a
7awn avn. This proves that if we can exclude only one item, the most logical thing to exclude is mAvw but not YpIp.

* See 79N w1 N # 87 and wn NHMA.
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